ggd

ud gd ud ud ooooobod
1 = goo E 450,000
T2 = ggd E 260,000
T2 = ggd E 260,000
T4 = godgd E 190,000
T4 = ggd E 190,000
6 = goo E 160,000
T7 = ggd E 140,000
T7 = ggd E 140,000
T9 ("] O00O0Oe OO E 103,000
T9 = goo E 103,000
T9 = goo E 103,000
T9 = goo E 103,000
T13 = ggd E 77,500
T13 = ggd E 77,500
T13 = ggd E 77,500
T13 = ggd E 77,500
T17 = ggd E 56,500
T17 = ggd E 56,500
T17 = goono E 56,500
T17 = g E 56,500
T17 = ggd E 56,500
T22 = goo E 48,071
T22 = goo E 48,071
T22 = goo E 48,071
T22 = goo E 48,071
T22 = goo E 48,071
T22 = goo E 48,071
T22 = goo E 48,071
T29 = goo E 43,500

1/2



ggd

T29

T29

T32

T32

T32

T32

36

T37

T37

T37

40

41

T42

T42

T42

T45

T45

T45

T45

T45

T45

T45

goo

goo

goo

goo

goo

ooags2

goo

goo

goo

goo

goo

RN

goo

goo

goo

goo

goo

goo

goo

goo

goo

43,500
43,500
40,500
40,500
40,500
40,500
38,500
36,000
36,000
36,000
34,000
33,500
31,333
31,333
31,333
30,000
30,000
30,000
30,000
30,000
30,000

30,000
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